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528+83 = 500-235= 88 x4 =
0.8x0.2= 0.25x4 = 8.8+0.2=
25.5x1.8= 0.6x15.5=

98.8+52= 903+43=

) izt

32x155-2.95 4.2x9.6+42+2.8

(/) &)

6x+28=40 3x+29-16=16

FAEGAT ST H)



68 +482 = 352+69 = 7Tx5 =

0.45x0.3= 0.16x0.5= 0.98+0.2 =
2.6x16= 12.8x3.6=
73.5+3.5= 243 +16.2=

) izt

(9.6-8.68)x1.1 50.15-8x3.5-12

(/) &)

03x+15=75 x+39-43=19

FAEGAT ST H)



6991258 = 507 -196 = 16x6=
0.28x0.3= 0.47%x0.3= 0.7+02=
4.2x10.3= 5.5x15.2=
165+2.5= 403+2.6 =

) izt

(36.51-16.4)x 4.5 2.36x5+18x6.25

(/) &)

0.2xx4+8=16 2x+52-26=56

FAEGAT ST H)



554+369 = 159-88= 56x9 =

1.5x0.03= 0.8x0.4= 0.23+0.1=
6.2x10.2 = 54x152=
3344+8.8= 61.2+18=

) izt

(80.6-50.36) +4 3.85+5.06x18+9

(/) &)

12+2+x=41 3+5(x+3)=43

FAEGAT ST H)



396-55=
3.7x0.3=

L

109x3.1=

53.2+2.8=

) izt

84 +(75.6+3.6)

(/) &)

3xx2-32=100

700—505 = 38x4 =
0.35x2 = 0.95+0.19 =

5.8x3.6=

33.3+0.6=

2.2x5.8-10.8+9

0.5x—-11x2=26

FAEGAT ST H)



519+88= 422 -254= 31x8=

0.75x0.5= 23x02= 0.55+0.11=
1.8x10.6 = 4.5%x9.6 =
59.4+18= 13.86+1.1=

) izt

1.2x(5.5+20.5) 0.6x1.5+19.2+0.2

(/) &)

64— 5x =34 7(0.2x — 6) = 84

FAEGAT ST H)



3594366 =
0.26x0.6 =

(4 =50

52x12.8=

102+8.5=

) izt

50.15— (40.15—38.9)

(/) &)

2(5x-9)+30=11x—4

500-295 = 36x3=
0.49x0.1= 0.36+0.04 =

17.5%x0.8 =

98.7+21=

15+0.5+8.8x4

25x3-0.5x=50

FAEGAT ST H)



154 +556 =
1.5x0.4 =

L

21.2x5.6 =

47025 =

) izt

12.8+(1-0.84)

(/) &)

0.6x+20=116

209-135= 88x3 =
0.46x0.3= 6.8+0.17=

1.4x11.5=

16.5+2.2=

40.2+0.2+10.2+1.7

2(5x—3)-8=36

FAEGAT ST H)



566499 = 300-178 = 28x4 =
0.33x0.3= 0.59%x0.4= 1.56+0.78=
36x20.1= 1.5x13.8 =

975+39= 281.6+12.8 =

) izt

1.35%(2.7+0.27) 10.8+12-2.05%0.2

(/) &)

HAl-x+3)+5=71 2x2.4+2(x—2)=50

FAEGAT ST H)



157+ 459 = 922 -888 = 69%x3 =

0.35x04= 0.33x0.4= 5+0.25=
6x15.3= 23x14.6 =
356.4+10.8 = 792 +6.6 =

) izt

30.69 - (15.5+12.7) 4x2.55-6.9+20.32

(/) &)

0.2%(0.5x+2)=7.6—0.5x 11x —3(x—2) =86

ARG SN A)



14+928 = 517-448 = 29x4 =
0.56x0.2 = 0.48x0.5= 1.3+0.26=
7.2x3.5= 2.3x10.5=

98.8+52= 332.8+12.8 =

) izt

12.2x0.84+12.2x4.2 9.8+7-0+88

(/) &)

30-3x2x=24 59+2(26—x) =89

ARG SN A)



1224755 =
0.48x0.4 =

L

0.88x1.6 =

32+1.28=

) izt

40.92x55.5+40.92x44.5

(/) &)

2x(23+x)-15=77

180-79 =
0.12x0.5=

52x5=
0.24+0.06=

0.42x1.35=

18.07+1.39 =

17.6+626—-7.6+3.74

10.3+(10.9-10.3)x=10.9

ARG SN A)



149 +188 = 189-99 = 59%x6=
2.4x0.8= 0.12x0.8 = 0.85+0.17=
4.8%x1.6 = 12.5x3.6 =

72+4.8= 22.59+09=

) izt

60.88x12.88 +60.88x87.12 55.66+1.5x6—-40.66

(/) &)

2x36+4(x-2)=88 28x(19-2x)=84

ARG SN A)



1884266 = 600—-495 = 12x9 =

0.28x0.5= 8.8x0.1= 0.64+0.16=
2.6x13.5= 6.6x2.5=
230.4+9.6 = 270+13.5=

) izt

16.2x78.8+83.8x78.8 10.8x2.5-18.618.6

(/) &)

13-0.2x+4=3 10-2x0.25x =5

ARG SN A)



7524125 = 400-228 = 53x3=
0.13x0.8= 0.26x0.5= 5+0.2=
4.8x10.2 = 52x20=
1323+63= 43.7+23=

) izt

15.4x6.66+15.4x3.34 7.5+24+9+30

(/) &)

20-45+2x=175 2x(18-2x)+5=9

ARG SN A)



29+184 = 700-129 = 35x3=

2x13.6= 02x1.4= 273+9.1=
9.8x9.3 = 18.4x4=
38.1+3= 15.7+5=

) izt

31.9+15.83+48.3 704 (5x1.1+0.43) - 4.7

(/) &)

46x-18="74 x+47.1-11.8=64.6

ARG SN A)



316 +67 = 283-149 = 66x3 =
1.2x7= 10.8x2 = 39+39=
8.2x83= 6x15.5=

253+1.1= 482 +5=

) izt

30.7+20.25-48.2 (7x7+1.36)~25.67-24.6

(/) &)

9x +15=33 11.6+75x=13.1

ARG SN A)



113+128 = 810-13= 97x2=

1.3x0.5 = 0.6x1.5= 94+94=
89x11.2= 5.1x9.1=
234+4= 16.1+7=

) izt

37.6+4.7+17.23 7.1x(3+5)+32.61

(/) &)

2x+21+14=41 1.2x+37.7=443

ARG SN A)



517+23= 723 -128 = 52x6=
4.4%x20= 6x7.1= 6.7+2=
29x15.7 = 20x2.4 =
10.2+6.8= 18.9+8.4=

) izt

4.67x17-8.06 34.8—(6x7.2+6.64)+7

(/) &)

84 +8—-11x=59 10.1x-50.7=9.9

ARG SN A)



327+41= 833-25= 11x2=

0.1x8.3 = 84 x5 = 9.8+49=
3.1x9.8 = 4x189=
21.1+0.5= 51+3=

) izt

4.6x1.7+5.93 (54.4-7.5%x4)~21.07+7

(/) &)

324+30-2x=16 Tx—-42.8=4.8

ARG SN A)



555+ 66= 374-199 = 81x3=
12.5%0.01 = 2x22.22 = 1.8+0.1=
9.1x8.9= 11x7.3=

42 +8.4 = 7.6+1.6=

) izt

4.08x12+28.58 3.59x5+(3.2x6-0.86)

(/) &)

x+84+4-51=41 7.8x-19.2=31.5

ARG SN A)



237+33= 282-239= 18x4 =

1.6x0.2 = 20x2.5= 1.6+8=
32x109= 2.6x14.7=
444 +3= 259+7=

) izt

38+8+(23-14.15) 45+0.5x(3.3x3+0.4)-35.2

(/) &)

11x-56+4=8 355-47x=214

ARG SN A)



394236 = 57146 = 93x2=
4.1%6= 5.4x0.1= 24+10=
2.39%10.6 = 9.74x1.1=
46.2+33= 422+4=

) izt

0.67x33+11.56-2.77 33.49+2.5x8.31

(/) &)

8(6+x)—8=64 37.6-3.5x=1.5

ARG SN A)



46 +327 = 274-129 = TIx7 =

0.5x7= 3x1.2= 98+14=
4x15.77 = 1.04x20 =
15.7+5= 39.6+1.1=

) izt

36.01+0.65x11 11+2+6.05x6

(/) &)

524 (x-2x3)=57 3.9%(50.4-x)=19.5

ARG SN A)



128+ 65= 820-239 = 53x5=
5x1.8= 2x4.8= 26+13=
18x2.25= 0.6x80.6 =

247 +7.6 = 81+03=

) izt

23.74-(27-50.5) - 29.35+ 25 4276 +7x0.7x9

(/) &)

2(x+27)-18=74 (342-x)x0.5=13.2

ARG SN A)



327424 = 390-249 = 77x3=
10.7x2 = 82x10= 7.6+02=
1.15x16 = 16.5x0.8 =

4924 =4 = 34.79+9.8 =

) izt

17.68—2x0.4+(3%2.6-5.12) 1.8x0.31x3+6.95

(/) &)

(2x+50)+2 =44 10.2(x-26)="71.4

ARG SN A)



215+229= 332-56= 50x4 =

54x2= 22%x9= 7+0.7=
0.49x1.2= 7.29x6 =
17.8+0.89 = 27.04+52=

) izt

84+2.1+425-372 6.3x7.9-39.45+25

(/) &)

5(12-x)+3=28 1.5(x+39.3)=69.3

ARG SN A)



613+19= 352224 = 42x4=

0.5x6.3= 0.6x0.4= 5.6+0.7=
2.09x10.3= 2.2x1.69 =
48.02+4.9 = 344+43=

) izt

6.4x1.1+83+21.8 10.8x3.6-10.95+24.6

(/) &)

3(x+48+12)=87 7(17.2-x)=9x%9.1

ARG SN A)



138+ 76 = 150-107 = T1x 6=
03x5.1= 20.3x3= 46.1+4.61=
7.1x4.4= 0.8x17.42=
12.19+2.12= 11.75+0.2 =

) izt

6.8x8.5+4.15-23 8.77x4-19.38+25.69

(/) &)

3(x—12)+74=80 8.8x=2.4x(7.8+26.3)

ARG SN A)



518+154 = 800-184 = 92x4 =

5x6.7= 39x3= 6.42+1.07 =
2.16x0.1= 3.12x7.6=
37.7+58= 8.5+4.25=

) izt

4.38x3-49+35.2 6x1.71+0.9+7.29

(/) &)

24+(x-6)+2=29 x+3.7x5.6=3.4x63

ARG SN A)



&3] 1:

611 265 352
0.16 1 44
459 93

19 21

46.65 55.32

23] 2:

550 421 385
0.135 0.08 4.9
41.6 46.08

21 15

1.012 10.15
200 23

23] 3:

957 311 96
0.084 0.141 35
43.26 83.6

66 15.5

90.495 1243

10 15

3] 4:

923 71 504
0.045 032 23
63.24 82.08

38 34

7.56 13.97

27 5

I
it

—
NN
)2

23] 5:

341 195 152
.11 0.7 5
33.79 20.88
19 555

4 11.56

22 96

23] 6:

607 168 248
0375 046 5
19.08 43.2
33 12.6
312 969

6 90

&3] 7.

725 205 108
0.156 0.049 9
66.56 14

12 47

489 50.7

16 50

23] 8:

710 74 264
0.6 0.138 40
118.72  16.1
188 7.5

80 207

160 5

RFERITE/NET( B)D



#3] 9:

665 122 112
0.099 0.236 2
723.6 20.7
25 22

13.5 0.49

8 246

3] 10:

616 34 207
0.14 0.132 20
91.8 33.58
3312

249 23.62

12 10

%3] 11:

942 69 116
0.112 024 5
252 24.15

19 26

61 1.4

1 11

%3] 12:

877 101 260
0.192 0.06 4
1.408 0.567
25 13

4092 20

23 1

%3] 13:

337 90 354
1.92 0.096 5
7.68 45

15 25.1
6088 24

6 8

%3] 14:

454 105 108
0.14 088 4
351 16.5

24 20

7880 17

70 10

3] 15:

877 172 159
0.104 0.13 25
4896 104

21 19

154 4.05

50 8

3] 16:

213 571 105
27.2 0.28 3

91.14 73.6
12.7 3.14
96.03 8.33
2 293

TR E N1 H)



%53 17:

383 134 198
8.4 21.6 10
68.06 93

23 9.64

2.75 0.09

2 0.2

3] 18:

241 797 194
0.65 0.9 1
99.68 46.41

5.85 23

25.23 36.87

3 5.5

%3] 19:

540 595 312
88 42.6 3.35
45.53 48

1.5 2.25

71.33 27.68

3 6

#:.3] 20:

368 808 22
0.83 42 2

30.38 75.6
422 1.7
13.75 21.39
23 6.8

%3] 21:

621 175 243
0.125 44.44 18
80.99 80.3

5 4.75

77.54 36.29

71 6.5

#:.3] 22:

270 43 72
0.32 50 0.2

34.88 38.22
14.8 3.7
13.6 57.5

2 3

&3] 23:

275 525 186
24.6 0.54 0.24
25.334 10.714

14 10.55

11.001 54.265

3 8.6

53] 24:

373 145 497
3.5 3.6 7
63.08 20.8

3.14 36

43.16 41.8

11 454

TR E N1 H)



3] 25:

193 581 265

9 9.6 20
40.5 48.36
3.25 27
46.066 86.86
19 7.8
.3 26:

351 141 231
21.4 82 38
18.4 13.2

12.31 3.55
19.56 8.624

19 33

53] 27:

444 276 200
10.8 19.8 10
0.588 43.74

20 52

93 35.32

7 6.9

3] 28:

632 128 168
3.15 0.24 8
21.527 3.718
9.8 0.8

37.14 52.53

25 5.5

#3] 29:

214 43 426
1.53 60.9 10
31.24 13.936
5.75 58.75

59.65 41.39

14 9.3

3] 30:

672 616 368
335 11.7 6
0.216 23.712
6.5 2

43.44 18.69

16 0.7

TR E N1 H)



